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Exercise IV – POSSIBLE SCENARIO
1. Workload 

Documentation

Translation: 30,000 / 2,500 = 12 days
Revision: 30,000 / 7,500 = 4 days
DTP: 100 / 8 = 12.5 hours = 1.5 days
2. Resources

As 12 working days means more than 2 weeks including weekends, we can decide to work with 2 translators. Translation can therefore be finished after 6 days.
One reviser will suffice. One person will be in charge of the DTP.

3. Overlapping

As soon as some files are translated, Revision can start.

For instance, Revision can start 2 days before the end of the translation.

4. Planning Representation
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Translation – 6 days





DTP – 1.5 day





Revision – 4 days
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